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M 232t
M 2= dE
ool 250z BARN 2 (=EEE))
3 _ _ MNEST
S - ZB . CRI(EI) - HIRAY - BES 0 apot Sl o HlRE2
O MEZAHEAHES ME3 K&
3,000,000& 3,000
O dI3A=3&UE K& 3,000,000& 3,000
O GHEBIEEES| HIISHXZ 5,000,000& 5,000
O Oieel= AMoIcHS 40,000,000& 40,000
LU= 20D 23S 29,000 5,000 24,000
= 12,840
= 16,160
307 QI2t0| ™ 29,000 5,000 24,000
& 12,840
= 16,160
04 DIZIHALAIIE X 29,000 5,000 24,000
O #0DI= EatesNE 29,000,000& 29,000
& 12,840
i 16, 160
gZHHIZS=EM 1= 140,000 140,000 0
& 40,000
= 100,000
307 QI2to|& 140,000 140,000 0
& 40,000
i 100,000
04 DIZHHAIAIE 22 140,000 140,000 0
O gg4dtblzs=r N 140,000,000 140,000
& 40,000
= 100,000
KlelatE st H=l 30,000 50,000 A20,000
307 QI2t0|H 30,000 50,000 A20,000
04 DIZHHAIAIE E T 30,000 50,000 220,000
OXlelotEstMl K& 30,000,000& 30,000
Jla SUHAE JHE 50,000 100,000 250,000
307 QI2to| & 50,000 100,000 250,000
04 BIZIHAIAIRIE X 50,000 100,000 250,000
OJIA=2A & K& 50,000,000 50,000
sgEsolsd 22,531 106,272 A83,741
301 LB AZ 22,531 106,272 A83,741
01 Atl2|2EE 2513 22,531 106,272 A83,741
Osgzsosd 243 22,531,000& 22,531
EWESHHIEINE 60,000 60,000 0
307 QI2t0| A 60,000 60,000 0
04 DIZISHALAIIE X 60,000 60,000 0
O2uEHE XA 60,000,000& 60,000
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S A

23
= Rz AE
&2l 23tiisDIBtAlIgE s 2tel (e ®d)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
405 KHAEE SHI 7,900 1,000 6,900
01 XA S SFHSHI 6,900 0 6,900
O &JHIE+7Y 6,900
0 HED| A= 1CH*5,000,000& 5,000
0 Oll=2| ¢ 1CH*500, 000 500
0 =0iet WA 2CH*200,000& 400
0. 240t013 WXl 2CH*500,000& 1,000
02 SM=2I 1,000 1,000 0
O Z32d =7 1,000,000& 1,000
HF0|A HA2EA2 2I 22| 10,600 6,040 4,560
201 Ler2ZH| 8,100 5,040 3,060
01 AtR2telt] 960 960 0
O ger=ZH| 960
0 LENIRESTY 20,0003 *123 240
0 AIRIDIABEFY 30,0003 *123 360
0 28257 30,0003 *123 360
02 3223l 5,340 4,080 1,260
O 3322 % HA 4,080
0 eIeYsld=z 40,0003+ 123 480
0 M3 300,000&x12& 3,600
O AM4EHl RXIBI 1,260
0 23DIEH 30,000 =2CH 60
0 H&DDI Y AIEEHISA 100,000& 122 1,200
03 A2 G| 1,800 0 1,800
O SNUsZZ)H#2Y 300,000 +6oH= 1,800
405 XHoHESHI 2,500 1,000 1,500
02 =M+ 2,500 1,000 1,500
O EM2 EX7E 2,500,000& 2,500
SstolsAld =22 103,600 25,802 77,798
201 Ler2 | 3,600 10,800 AT,200
02 3223l 3,600 10,800 AT7,200
O ¢HEIsHe 3323 & MA343 3,600
0 &4=ER= 100,000&* 12043 1,200
0 &= 200,000& 1200 & 2,400
401 AIEHIZ 20| 100,000 10,000 90,000
01 Al&H| 100,000 10,000 90,000
O MEXAZH TZAL 2| 15,000,000& 15,000
O MEX2DH FHISA 75,000,000 75,000
O 2soi=AldE 21557l 10,000,000& 10,000
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2A: 23221
g3 2z ME
CHel 20T IRAl LY Rl (Sr9): H2)
S - - BREH) - MRAR - BaS of vt o HI DS
LHE 230z 22d 2kl 200,978 201,687 AT09
101 el24H] 6,054 5,189 865
04 J1IZHNI22 XS24 6,054 5,189 865
O tHEIsil=sl2 22| 2Ry 6,064
0J1=2s 44,6402 x1H*100 4,464
0 FX=< 44,6403 1F =20 893
0 &HiEE=E 5,359,800 *4% 215
0 =0ALEE= 5,359,800&*3.035% 163
0 NEEEE 5,359,800&*1.3% 70
0 =8I=s 5,359,800&*4.5% 242
0 LoIEIIRAYES 200,000 3. 275% 7
201 £EH= g 151,174 162,398 A11,224
01 At=2telH] 13,060 12,240 820
O «it==ZH| 13,060
0 MEIE0=32 LBANRES 7Y
100,000& 122 1,200
0 MEIH0=212 YA 2L
50,0003 402 A 2,000
0 M3 0=22 FAESTEY
100,000+ 12& 1,200
fEgstad DT 250,000 +6& 1,500
S Ee0 =2 SEN Y
100,000 %122 1,200
0 MEBS0=3R MB2RSE
30,000&*122] 360
0 ME=30lsl2 Hotrda
500,000&*12] 500
0 MEE30=2l2 Fa=Il2e
55,0002+ 123 660
0 AHEE0BE R 20| 242
300,000&*12& 3,600
0 MEE0=2 2 R4S 140,000 +62] 840
02 5=t 138,114 150,158 A12,044
O 2323 % dAl 88,114
0 ReesEs =g 12,0008+ 128 144
GHE 23032 Yot =2
200,000&*12& 2,400
0 MM ESHUI=S 2 AYAIE XMl &SDIs
838 =8 1,000,000& 22 2,000
0 MEE0=22 MIIHHEE U ===
= 900,000& *123] 10,800
0 MEE30=2 SYINAHEH ==
150,000 %122 1,800
0 MEE3H0=22 HIERIEA ALDHH &Y
LEE= 20,000&+13] 20
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2N S22t
M 2z K=
S| 20D |BAI & s 2] (49 8
SA - B B(3H) - NBAY - BAS ofl kot o HZSZ
0 MEIBSHH=3l 2 HYERIA 22| HE
B3 FHI|IHA =42 150,000 %13 150
0 MEEISHH=3l 2 ASOIME S|
80,000&*13] 80
0 AEESSH0=3l 2 B! ZAHA JIDIX
X A& =] 60,000&*13] 60
0 MHEISHH=SR MRS
4,100,000 *12& 49,200
0 AMESSHH=3 2 B2 ZAF =2
230,000&*27| 460
0 MEEISHH=3 2 Aol E ASE
1,500,000« 12& 18,000
0 d=22032 AEs A
3,000,000&*13] 3,000
O HzH| 50,000
0 AR E23H0ll=3l 2 DAY
1,600& *28, 000kg 44 800
0 MEISHHssl2 2] |Xl2el
50,000& *x2CH* 128 1,200
0 2] AE(H2H, SSUEE AT XIAI
) 2 5,000&*200L 1,000
0 B2HANZ & A2
1,500,000 *2CH 3,000
401 AlEH|IL 204 34,450 32,000 2,450
01 Al&H] 34,450 32,000 2,450
O AM&EBIRXIbE] 34,450
0 MEISHH=32 JIHA Xs&d SA2
2l 2,500,000&*27| 5,000
0 HEHZE WEIAIA (A=D], QIHE], Y=L
) LAl 6,000,000 *3CH 18,000
0 UEBHE, AZHE 2HT HIH
200,000 *25CH 5,000
0 sE RUTPSAIE X2l
200, 000& *504 1,000
0 HIZOE SHTSAE 225 7Y
45 000& =104 450
0 UBHE 2URSAIE CIDIEARIX 2L
100, 0002 *20H 2,000
0 E-OAIRIE Y2420 WX
1,000,000& *3H 3,000
405 XRAHEISHI 9,300 2,100 7,200
01 AL EEF SHI 9,300 2,100 7,200
O Y 2SFH S| 9,300
0 CHASHE HE|IZEA 100, 0002 *307H 3,000
0 AZBHE &HOIAIQXH 40,0002 %1504 6,000
0 hAZHE 00|13 AHIE 50,0002 *6H 300
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2A: 23221
g3 2z ME
SHol: 23i0i@(BAl LS EL B (erl: &g
S - - BREH) - MRAR - BaS of vt o HI DS
BOOK-START AL} 2,000 2,000 0
< 1,000
= 1,000
308 AXIHHSOIA 2,000 2,000 0
< 1,000
o 1,000
08 W=J|20CHer 2= 2,000 2,000 0
(OBOOK-STARTAH 2,000,000 2,000
= 1,000
= 1,000
AHESH 2t PR 2 2l 277,681 94,566 183,115
101 el24d] 30,861 3,494 27,367
04 JIZtH22 XS 2=+ 30,861 3,494 27,367
O &EdHI2eg 3 2deide] RY 9,077
0Jl== 44,6403 %1Q1%x1502 6.6%
0 =X 44,6403 %121x30 1,340
0 =8I=s 8,036,000 *4.5% 362
0 LOIEDIQAES 244,000 %3.275% 8
0 &THES 8,036,000 *4% 322
0 1828 8,036,000&*1.3% 105
0 2HEE= 8,036,000 *3.035% 244
O ¢4 |I2eH 23 34 2IRY 18,151
0JlE= 44,6403 %201%1502 13,392
0 F=Xt+=& 44,6403 %201x30 2,679
0 =8I=s 16,071,000 4. 5% 724
0 LQIEDIRABH 488,000 +3.275% 16
0 &THES 16,071,000 *4% 643
0 NELE 16,071,000&*1.3% 209
0 HHEE= 16,071,000&+3.035% 488
O MEEHI2S AT =522 AUFY 3,633
0J1=2= 44,6403 #401x15& 2,679
0 F=Xt+=& 44,6402 #401x3 536
0 =8gs 3,215,000 *4.5% 145
0 LQIEDIRABH 98,00024+3.275% 4
0 AHHEE 3,215,000 *4% 129
0 NELE 3,215,000 *1.3% 42
0 HLLE= 3,215,000&*3.035% 98
201 fEeH=2 & 172,820 87,072 85,748
01 AtR2t2|H 34,680 13,372 21,308
O «gt=gl| 34,680
0 2tAl 7 50,0002 +602f A 3,000
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M 232t
3 Rz s
&2l 23tiisDIBtAlIgE s 2tel (el &
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
0 SHEANEMH & LeH 2
20,0003 5204 26 6,240
HASE 7Y 50,0002+ 128 1,800
AP AR EETY 10,0002 101 128 120
HUISsPY PSR (TAL, BB
) 1,000& 10,0005 10,000
0 dHI2stHRJ H==D| 2t
55,0003 *2I Aa* 12 1,320
0 =2 Y HAEHl AE7 L]
5,000,000 *14] 5,000
0 RPOIBHIAIAE 7,200
o g7z 300,000+ 12& 3,600
0 Hp=tEtE 300,000&*12& 3,600
02 S=23| 138, 140 73,700 64,440
O MEEHIZ8 72 2323 87,940
HIIR= 4,000,000&*123 48,000
S| BHs=E 3,000
o g7z 125,000& 123 1,500
0 H=ttE 125,000« 123 1,500
0 Yotzte| B2 125,000& 2=+ 123 3,000
0 &J|etd Rtz 2,000,000 12| 2,000
0 &J|erdzelt| 1,000,000&x12& 12,000
0 s2I1 EJ| ZAHI 250,000 *2J4 2 500
0 &ot=E =2 1,000,000 *12& 12,000
0 N33 30,0003 20 L+ 12& 720
0 24l 3= 40,0002 A+ 12& 960
0 REYsEs =02 12,0003 4001 2% 123 5,760
O ¢zl 50,200
0 Jta7g 1,600 *30,000kg 48,000
0 29 #X&el 100,000& =12 1,200
0 22 A4ZP(H2H, HSLUES, 8%
INEES) 5,000&*200 ¢ 1,000
207 HAOHEH| 22,000 0 22,000
02 HePNEHI 22,000 0 22,000
O dEEHI23 3 SHIO0IX MZ
22,000,000 * 14 22,000
405 RHAHE SHI 52,000 0 52,000
01 XL =2 SFHSHI 52,000 0 52,000
O g==tts &I ¢ 52,000
0 MIEDI 1,000, 000& *3CH 3,000
0 AXD| 1,000, 000& *3CH 3,000
0 HEdAd| 7Y 500, 0002 *2CH 1,000
0 g™ P 1,000,000 *20CH 20,000
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M 232t
3 Rz s
&2l 23tiisDIBtAlIgE s 2tel (cHel:&J)
A - FHB . GI(BH) - HRA - BES Ol ko e AlimE=T
0 AFHH2E A Jfa 7Y
25,000,000 25,000
&t 2I a2l 42,050 20,366 21,684
101 2I1244| 12,550 8,346 4,204
04 I H22NSES 12,550 8,346 4,204
OJ|st=te 2e|elfY 12,103
0.012=2 44 640+ 1H+200 8,928
0.=Xt==g 44,6402 x40 1,786
0.=22HLEER 10,714,000 *3.035% 326
0.20H3 10,714,000 *4.5% 483
0.4 HEE = 10,714,000 *4. 0% 429
0.0=288x 10,714,000 *1.3% 140
0.5 |QYTH 326,000&*3.275% 11
OJI=22tE 2101 12 447
0.012=2 44,6402 x1Z*10 447
201 LEr2 | 16,600 11,420 5,180
01 AtR2telt] 7,000 6,500 500
Ogt=2H| 7,000
0.2ENIRES 7 2,000,000& 2,000
0.8AE8 & A28 ¢ 1,000,000& 1,000
0.8AIZ JIE 22l 1,000,000 1,000
0.Ro1FH|(HA,CCTV) 2E &2
250,000& 1200 & 3,000
02 2223l 9,600 4,920 4,680
O2323 & HAM33 8,400
0.87123 600,000&* 12042 7,200
0.3 50,0002 * 1201 = 600
0.8323 50,0003+ 12043 600
OINF=F={s1E=IN]s] 1,200
0.8 S| 100,000& =120 & 1,200
401 AIEHIZ 20| 10,000 0 10,000
01 Al&HI 10,000 0 10,000
O 840 &X 10,000,0002 141 10,000
405 XHoHESHI 2,900 600 2,300
01 At =2 SFSHI 2,900 600 2,300
O&EADD] 7Y 2,600
0.27H 1,500,000 = 1CH 1,500
0.ZglED] 500,000 = 1CH 500
0.8317| 300,000 = 1CH 300
0.WAD| 300,000&+1CH 300
O&F=J| Fg 300,000&+1CH 300
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SN 2sBn
MM 250z M2
B9l 2alolzIlBAlLsE Y Rel (B9l =)
x 5 . AT
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HlnsSZ
jpt=oly HEnE 0 2 40,000 40,000 0
= 20,000
= 20,000
307 212t0| & 40,000 40,000 0
= 20,000
= 20,000
05 BIRIRIES 40,000 40,000 0
O=etHgn2Is 2Y9le 40,000,00024 40,000
= 20,000
= 20,000
AEESHS0ISY IS A ALY 40,000 0 40,000
307 21240/ & 5,000 0 5,000
R ENEEES 5,000 0 5,000
OIE-E-LIET=PIIETE PN
5,000,0008%13] 5,000
401 Al LS THY| 35,000 0 35,000
01 Al 35,000 0 35,000
OMySeHs0IsY J|gH| A
35,000, 00024+ 14! 35,000
YR 22 20,000 0 20,000
401 AL TR 20,000 0 20,000
01 Al 20,000 0 20,000
O ABLA DR HLAR 2%
20,000,000%4 20,000
X2 292 184,020 189,020 5,000
= 3,500
= 180,520
SEAR A 7,000 6,000 1,000
= 3,500
2 3,500
307 1240/ & 7,000 6,000 1,000
< 3,500
= 3,500
02 RIFFAAIIEE 7,000 6,000 1,000
OSFEAREAKIZ 7,000,00084 7,000
< 3,500
= 3,500
NEIEEENEEES 65,000 65,000 0
307 SI240| & 65,000 65,000 0
VEIREPONCEES 65,000 65,000 0
OXIYSSHR ARSI 65,000,0008! 65,000
2ssney 17,920 17,920 0
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307 2I2t01A 17,920 17,920 0
02 DIZHEAIAIE E X 17,920 17,920 0
O 2gtetn 22X 280,000 2 *8IH & x8 2 X} 17,920
=3tsAF X 5,500 5,500 0
307 QIZt0|A™ 5,500 5,500 0
02 DIZHEANAIHE X 5,500 5,500 0
O3t Z23HAKIA 5,500,000& 5,500
NL2S22E XA 83,600 94,600 6,000
307 2IZt01A 83,600 88,600 0
02 DIRHEAIAIEE X 64,800 64,800 0
O N2z2d XA
200,000 * 122274 A 64,800
03 QIIHHE2HHIE X 23,800 23,800 0
OXYEs2=2d XNH 23,800,000 23,800
2SS B=2e] 3,174,771 2,829,399 345,372
= 949,364
< 1,149,260
= 1,076,147
NE2S 2= & M5 104,720 78,720 26,000
= 7,200
& 32,720
iy 64,800
UM =FsFH 2 12,000 12,000 0
o= 3,000
= 9,000
307 2I2t0| & 12,000 12,000 0
[ 3,000
= 9,000
02 DIZHEAIAIE E X 12,000 12,000 0
ORIZIAAME X 12,000
0 92N =, =sH1 6,000,000&*23] 12,000
= 3,000
= 9,000
KRNI HseLH 14,000 14,000 0
307 2I2t0| & 14,000 14,000 0
02 DIZHEAIAIE E T 14,000 14,000 0
OoIZtHEAE X 8,000
OAHE.EtE S =8 MK
2,000,000 %2 A-%23] 8,000
OM MK (SR, I HHAH AHIAR)
1,000,000 x4 A 4,000
OAHRE HIIXIA 1,000,000 * 1A 1,000
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SNHE25 HBAY 20,000 16,000 4,000
= 8,000
2 12,000
307 BI2F0IF 20,000 16,000 4,000
= 8,000
2 12,000
S TONEEES 20,000 16,000 4,000
OpIZt0I® 20,000
0L ENEIEE DAY
10,000, 0002%22 2 20,000
= 8,000
2 12,000
HESNLANSEE 29,600 25,600 4,000
= 10,000
2 19,600
307 BI2t0IF 29,600 25,600 4,000
= 10,000
2 19,600
02 BIRIBHAIEE 29,600 25,600 4,000
OIZtol® 24,000
0 AECHIET HMS25 HSAY
12,000,0002x27H 4 24,000
= 10,000
2 14,000
OMEEHEET J129 T
2,800, 0002+2JH A 5,600
SHAHESKI 11,120 11,120 0
= 6,320
2 4,800
307 BI2t0IF 11,120 11,120 0
= 6,320
2 4,800
02 BIRIZHAIEE 11,120 11,120 0
OpIZt0l® 11,120
0 & PSS IIHSAH| N
1,520,000 1,520
= 1,520
0 € P2 M5 DY N
80,0002+ 122 9,600
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2 4,800
MM ST 18,000 0 18,000
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2 5,400
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AEX =Al2c 146,744 131,443 15,301
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04 JItN22 XS24 32,689 28,418 4,271
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0 JI2= 44,6403 =250 11,160
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0 AEER 13,481,2803 %4.0% 540
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0 Lo RAEE= 409, 1602 +3.275% 14
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0 F=Xt=& 44,6403 x40 1,786
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0 18E8= 10,714,0002%1.3% 140
0 MHEER 10,714,000& *4.0% 429
0 =2z 10,714,000& *4.5% 483
0 LOIEDIQAEEE 326,000&#3.275% 11
O =3t 44,640+621+20 5,357
201 feH=2 | 48,980 43,820 5,160
01 At22t2lH 23,660 18,860 4,800
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o FoIBHIAAESE 170,000& 122 2,040
SHAINRX SEA MA 60&+30,000& 1,800
SX2sH A8 2
25,0003 *407H 2=*3 4 3,000
0 e 2o 5,190
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o FRIZHIAAESRZ 250,000+ 128 3,000
o &I HBHIA =8 150,000&*13] 150
o s&J| 28 B =2
140,000& 123 1,680
0 &4EZ S2E d2 2Y 3,360
0 MNRES & LEHRY 30,000&+12& 360
o FOZHIAAE =2 250,000+ 128 3,000
O 2g=¢ 6,440
0 SatFerEItalo|? 3 e &4
70,0002 +321x243] 5,040
0 2stE= XDIsN2E
70,0003 *22!%102 1,400
O SH(SSUHERFH) 7,000&#3e1x70 1,470
02 2324 25,320 24,960 360
O =323 ¢ HA 25,320
0 23 HEI[CHE B AL 40,0003 #5401 A 2,160
0 SFIg2=2d 7,800
o MIIL3 600,000& 123 7,200
o MAQIHUAIZRZ 50,0002 122 600
0 Mt =2 2 9,600
o MJIL=a 600,000& 123 7,200
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o d+=EAEE 10,0002 12& 120
o Ystte|kt RE 2 140,000 123 1,680
0 &EZ2 S2E d2 2Y 5,760
o &JIR= 400,000+ 128 4,800
o MYAQIHYAIZ=Z 50,0002+ 12& 600
o d+=EAEE 30,0002+ 12& 360
202 (44| 5,400 5,400 0
01 SU0bI 5,400 5,400 0
O 2RI 150,000&*3Q1+12& 5,400
206 =4l 7,175 3,805 3,370
01 M=l 7.175 3.805 3.370
O =3t & 2tel 7,175
0 &=l 400&*10,000m* 4,000
0 =& 3, 7003 %2502 925
0 2EEHIE 25,0002 504 1,250
0 MI=MLEos L=t 2
1,000,000& 1,000
307 B12t0l& 50,000 50,000 0
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05 RIS 3 50,000 50,000 0
O SHAHSXEAZ 29 17,000,000& 17,000
O HHRPSIAZHLY 29 T2 N 33,000
0 MSXIEA 10,000, 000& 10,000
0 HSHXIE 8,000,002 8,000
0 Pt XA 15,000,000& 15,000
405 KHobE SH| 2,500 0 2,500
01 ML =ZF S 2,500 0 2,500
O ZARA MLOAIIH 2 2,500,000 2,500
SX2SH AAZAHMTASAIY 81,936 81,936 0
= 40,968
= 20,484
2 20,484
101 @1244| 73,784 73,784 0
= 36,892
= 18,446
= 18,446
04 JRIA2ZNHEE S 73,784 73,784 0
SINHSH Bolo=Y 73,784
0.J1=2=(2LHA) 98,3603 x221%232 45,640
= 22,820
= 11,410
i 11,410
0.212=(0k2t) 56,2682+ 121+x300& 16,881
= 8,441
= 4,220
A 4,220
0.4028= 62,521,000&+8.72% 5,452
2 2,726
= 1,363
i 1,363
0.818= 62,521,000&%1/12 5,211
= 2,605
= 1,303
i 1,303
0. =l 600, 0002 600
= 300
= 150
i 150
201 k=24l 8,152 8,152 0
= 4,076
= 2,038
i 2,038
01 At22teld| 8,152 8,152 0
o2 (M) 8. 152,000& 8,152
2 4,076
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3,000
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105,405
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447,696
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01 AIZHI 668,379 1,242,690 A574,311
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OHSAK SEE 425,485,000 425,485
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= 21,035
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= 13,975
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= 37,807
[ 13,475
= 25,025
OSHEAIR A ASAE 24 36,699,000 36.699
= 25,569
[ 3,896
= 7,234
OUEe| ASAE FHFH 17,983,000& 17,983
= 12,529
[ 1,909
= 3,545
03 Al CHH 5,472 9,410 3,938
OUHRAAL CHEAE FHEH| 20|
70,000,0009+0.90% 630
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OSHS ALK SEHEY| 20
428,571,0002%0.72% 3,086
= 3,086
OLAIDIE o 92 24 20|
43,000,0009¢1.08% 465
= 465
OIS o 92 24 20l
77,000,0009+0.90% 693
= 693
OSHSAIK A AISAE 24 20|
37,100,0002%1.08% 401
= 401
OWEe| ASAE FHFH| 20|
18,180,000 1.08% 197
= 197
402 QIZERF=0| ™ 250,000 300,000 A50,000
= 175,000
[ 26,250
= 48,750
01 QIZEAF=2AIIE X 250,000 300,000 50,000
OYHAL ASAE FHFY 250,000,000 250,000
= 175,000
[ 26,250
= 48,750
CXE2FWES 1,126,520 550,000 576,520
[ 760,401
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EXE SMESTHIAI 1,126,520 550,000 576,520
3 760,401
= 366, 119
207 AP H| 49,720 0 49,720
= 33,561
= 16, 159
01 SiPE] 49,720 0 49,720
OXIBAK SEHH| JI=2H e 29
49,720,0002 49,720
< 33,561
= 16, 159
401 Al L2 CHY| 1,076,800 550,000 526,800
= 726,840
= 349,960
01 AI&H] 1,068,300 545,671 522,629
OHHAAR! =] 19,784,0002 19,784
= 13,284
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OS2l DIt B4BAL 103,251,000 103,251
= 69,451
= 33,800
OS2l 2Dt B4BAL 133,432, 0002 133,432
= 89,752
= 43,680
OBAHM =24 L =e| 75,316,000 75,316
3 50,616
= 24,700
OOIA Z=E &I 19,784,0002 19,784
= 13,284
2 6,500
OUZEMNE E2BAF 105,236, 0002 105,236
= 70,786
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OAFHRl BasM QUIA L 2014 |
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= 13,000
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= 749
OS2l ANDIt B4BA
134,400, 00021%0.72% %68
= %68
OBHM 24 L FeB|
76,000, 000210.90% 684
= 684
OOIAHH F&1ZH| 20,000,002+ 1.08% 216
= 216
OUZAR BHBA 106,000, 00024%0.72% 764
= 764
OokZel £8F B4 U EuEY|
78,000, 00024+0.90% 702
= 702
Omz2l ga= J| 100,000, 00021+0.90% 90
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OAIZRI E42H QUM o 2014 FY|
40,000,000211.08% 432
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OMZE DEF W2BXA  398,400,0002%0.72% 2,869
= 2,869
JIEH2ETHARS 746,000 419,700 326,300
=2 247,000
= 223,500
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SETHFH I A 42,000 63,700 £21,700
401 Al ZHIL 2T 42,000 63,700 £21,700
01 AIZE] 42,000 63,700 A21,700
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= 100,000
= 100,000
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OSSN FH Ba8 58T Xy
200,000,000 200,000
& 100,000
= 100,000
401 A ZHIZ=HH| 10,000 0,000 0
01 AI&H] 10,000 0,000 0
O SHMFH #3ZH 2 MARRIXL
10,000,000& 10,000
HSAME LTHAIAE ASAHS 334,000 146,000 188,000
= 167,000
= 83,500
= 83,500
402 2I2EXH201 M 334,000 146,000 188,000
= 167,000
= 83,500
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O&EA LTHAIAR ASAHS 136,000,000& 136,000
= 68,000
= 34,000
i 34,000
OUZA LTHAIAR S AHS 198,000,000 198,000
= 99,000
= 49,500
= 49,500
Ct2totn xHEsteE 22EE 1,044,581 859,509 185,072
Jl 40,568
& 22,166
2 981,847
2BEEEE0l HAH =3 870, 154 788,070 8,084
Il 40,568
= 22,166
s 807,420
2ZESZ ME . BT 66,000 66,000 0
201 LBt2 | 66,000 66,000 0
0T AFE 22/l 60,000 60,000 0
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01 At22t2|H] 461,670 429,670 32,000
O LBt2H| 440,200
0 HEAZE =22/Z 1
6,000, 000 *2JH A * 122 144,000
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0 2HIY OHE2IHI0IE |XIE2=H|
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0 AH 2 HSOHM 22 10,000,000 10,000
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20,000,000 x 14l 20,000
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O EstivlstEa st 2,877
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0 IEEE 2,008,800&*1.3% 27
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0 HZEE 2,679,000 +3.035% 82
0 AHHEE 2,679,000 *4% 108
0 DE2E 2,679,000 *1.3% 35
O ok 22| el 17,651
02122 44,6402+300 13,392
0 =xt=¢ 44,6402 50 2,232
0 =22H3 15,624,000 *4.5% 704
0 AHEE 15,624,000& *4. 0% 625
0 nEZE 15,624,000 *1.3% 204
0 HZEE 15,624, 0002 *3.053% 478
0 LOEDIQABE 478,000 +3.275% 16
201 22| 14,335 16,935 A2,600
01 AtR2telt] 3,285 2,285 1,000
O LEr2dH| 3,285
0 AtR2teltl 3,285
0 SEHEFAE sHEX 7
50,000 40 A 2,000
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95,0002 *3JH 2 285
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01 Al&H| 25,000 75,000 A50,000
O S22 AEE2 RAEAY
25,000,000& 25,000
Aot 29 54,237 427,798 A373,561
101 @1244| 12,103 0 12,103
04 JIZtHI2 2R SE+ 12,108 0 12,103
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0J12= 44,6402 *121%200 8,928
0 =xt=¢ 44,6402+ 121%40 1,786
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0 AHHEE 10,714,000 *4% 429
0 NEZE 10,714,000 *1.3% 140
0 HEEE= 10,714,0002%3.035% 326
201 LEH2 Y| 42,134 25,798 16,336
01 AtR2telt] 5,800 0 5,800
O ger2g| 5,800
0 LEINREEF 10,0002 *121x 123 120
0 StEX 2 50,0003 *20t A 1,000
0 BIFANE A P
20,0003+ 130 2+68 1,560
0 ELAES P 150,000« 12& 1,800
0 &=D| el 55,0003 *2I A+ 12 1,320
02 Z=23| 36,334 25,798 10,536
O QHZZHE 28 ZBR23 36,334
0 ML= 2,000,0002+ 122! 24,000
0 &at2te| 2 125,0002 123 1,500
0 &40 &4 100,000&*12& 1,200
0 &7 &I 250,000&* 13 250
0 &It 1,200,000&*13] 1,200
0 &JlerE e 250,000&x12& 3,000
0 SoIZHIAl ==
154,000& =128 1,848
0 &5t=% A 100,000& 123 1,200
0 M3te3 30,0002+ 12& 360
0 eIyl 3l 40,0002+ 12& 480
0 FEgs = 12,0003+ 2+ 12 1,296
FZotZAEINEAS 30,000 65,000 235,000
401 Al2HI L2 CHY] 30,000 65,000 35,000
01 Al&HI 30,000 65,000 A35,000
O ASESHIDI HEEFIAM
20,000,000& 20,000
O dxds2dH S3A
10,000,000& 10,000
22N AS 330,000 0 330,000
Xl 200,000
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401 AIEHIZ 20| 330,000 0 330,000
Xl 200,000
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i 70,000
01 Al&H| 328,560 0 328,560
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B MG USBE N
ool ROHSES 245 (=EEE))
. , - PSEL= =
S - T B2I(3) - HIRAIY - BAS 0 et e HlRE2
= 78,576
OFYUK MEHSCK DEH X2
200,00021+42» 122 9,600
MEHSDA 12,09 12,09 0
= 3,628
2 8,468
307 2120l & 12,09 12,09 0
= 3,628
2 8,468
02 SIFBAAREE 12,096 12,09 0
OMEHSDASY 12,096,002 12,096
= 3,628
2 8,468
MEHSTZ2O 9,792 9,792 0
= 2,937
2 6,855
307 2120 & 9,792 9,792 0
= 2,957
2 6,855
EIETONSEES 9,792 9,792 0
OMEXISEZ YLy 9,792,002 9,792
= 2,937
2 6,855
024l HSESXR 106,752 75,024 31,728
| 48,576
2 58, 176
307 21201 F 106,752 75,024 31,728
| 48,576
2 58,176
02 SIZBMARER 106, 752 75,024 31,728
OUZ2AHLHEH SN2
424+24,288, 0002 97, 152
| 48,576
2 48,576
OUZANLMBHSNS DSH X
200, 00021 #4212 9,600
ALE GISHAIY 26,230 26,230 0
| 18,361
= 2,361
2 5,508
01 LBFAS 26,230 26,230 0
| 18,361
= 2,361
2 5,508
REEE === 26,230 26,230 0
O AZZ HI2HAY 26,230,002 26,230
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M HEE M=E2sS X
ool ZoX=sEs 243t (cHel:&J)
A - FHB . GI(BH) - HRA - BES Ol ko e AlimE=T
J| 18,361
= 2,361
= 5,508
SOIXNSHEI ALK& 153,000 150,000 3,000
307 QI2t0|H 153,000 150,000 3,000
04 DIZIHALAIIE X 153,000 150,000 3,000
OZ8IXN=U=2l SHAKIA 150,000, 000& 150,000
O==1] ggAaddl XA 3,000,000& 3,000
ZOXEUE iz K& 33,000 160,000 A127,000
307 G120 & 33,000 160,000 A 127,000
04 DIZHHAIAIE E = 33,000 160,000 A 127,000
02015 S8M=Uz=l HEl X
33,000,000& 33,000
HERsd=s4X13 10,000 10,000 0
307 QI2to| & 10,000 10,000 0
04 BIZIHAIAIRIE X 10,000 10,000 0
Oxs 8+ 84 X 10,000,000& 10,000
DT MENSUSH 87,000 75,000 12,000
307 QI2t0|H 87,000 75,000 12,000
04 BIZIHALAIRIE X 87,000 75,000 12,000
OZEE MEHs Usd &t X
85,000,000& 85,000
O=321] ggAddl XA 2,000,000& 2,000
HRAS M= 30,000 30,000 0
307 QI2toI & 30,000 30,000 0
04 DIZHHAIAIE 2T 30,000 30,000 0
OHASIENSU S
2,500,000&*12HEB= 30,000
METI|2HMES AU 20,000 20,000 0
307 QI2t0| A 20,000 20,000 0
04 DIZISHALAIIE X 20,000 20,000 0
O&ET J|2EHE =102 iz
20,000,000& 20,000
STNMETSAIE ALE 6,000 6,000 0
307 SI2H01 M 6,000 6,000 0
04 DIZIHALAIRIE X 6,000 6,000 0
OHHERIE StTNMEHSAIE AMEXIA
6,000,000& 6,000
MZolotet AL 8,000 8,000 0
307 QI2t0|H 8,000 8,000 0
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M 232t
B AME ASBE N
o9l RolNSES Bas (S9:®g)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
04 BIZIHAIAIRIE X 8,000 8,000 0
OM=2l SaredAl 8,000,000& 8,000
HELMEFE 60,000 10,000 50,000
307 QI2t0I & 60,000 10,000 50,000
04 DIZHHAIAIE 2= 60,000 10,000 50,000
OnEdds=0z ot X 10,000,000& 10,000
OMI103] BaaE028MEXIFHSI O
50,000,000& 50,000
FSPNESTSISEEON| 20,000 20,000 0
307 QI2H0|H 20,000 20,000 0
04 DIZISHALAIIE X 20,000 20,000 0
OdXlzdd sl 20,000,000& 20,000
A= L | AL 50,000 58,000 8,000
307 SI2H01 ™ 50,000 58,000 8,000
04 DIZIHALAIRIE X 50,000 58,000 8,000
OBNETXIANCHE &I XA 30,000,000& 30,000
OT=2E &= L THAMSEAL Ot
20,000,000 20,000
HILEERUE 35,000 35,000 0
307 PIZHOIE 35,000 35,000 0
04 BIZIHALAIRE X 35,000 35,000 0
O&ILLEEFU3 4= 35,000,000 35,000
Kel&td 70AI2 M=US 20,000 20,000 0
307 I2H0I A 20,000 0 20,000
04 DIZIHALAIIE X 20,000 0 20,000
OXlelatd 7HAI2 M2l
20,000,000 20,000
=2 AL ME Uzl JH= 120,000 0 120,000
307 QI2+0|H 120,000 0 120,000
04 DIZHHAIAIE E T 120,000 0 120,000
OX=2EAL NSEU2IHE 120,000,000& 120,000
MEZH MIRAE FSIUE A 50,000 0 50,000
307 212+0| 50,000 0 50,000
04 BIZIHAIAIRE X 50,000 0 50,000
Otttz dIRA2ESUEIHA
50,000,000& 50,000
&A= €0 2=0EHE 45,000 0 45,000
307 QI2t0| & 45,000 0 45,000
04 DIZIHAIAIIE X 45,000 0 45,000
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SN 2522
ME: HEE HSE=E U
cel: ZoIHSES 243 (el #9)
S - P BR(3) - HIRAIY - BAS o sty o HI DS
\ \ OF= 20 2=U3IHA 45,000,0002! 45,000
MLy 813,260 871,659 58,399
STHSAE2Y 418,941 400,074 18,867
101 124t 44,296 44,733 A43T
M4 IRIH2EREES 44,29 44,733 AA3T
O ZESSHFTHEH IR
44, 64021*201%502 4,464
O ZABAFHFHIQISA  44,64021%101x30Y 1,340
O HDEEL2 2212 44,640R%301x50L 6,69
O METRIStES L T LAY 212
44, BA0R1*301%302 4,018
O 2EEFFH| IR 44,6402 % 101%302 1,340
O ZOIHSMHEZ=EH QIR
44,6402 % 101x502 2,232
O MEHS3 Zeleey 12,103
00123 44,6402%101x2002 8,928
0 F=xtgt 44,6402 % 101%402 1,786
0 20IAYLEZ 10,714,0002%3.035% 326
0 NEeEe 10,714,0002%1.3% 140
0 MEEE 10,714,00024%4. 0% 429
0 2013 10,714,00024%4 . 5% 483
0 Loz)QuEEE 326,0002*3.275% 1
O 4eMEHsSI 2l 12,103
00123 44,64091%101x200 8,928
IS EN= 44, 64091%101%402 1,786
0 BIAALEZ 10,714,0002%3.0355% 326
0 NErEE 10,714,00024%1.3% 140
0 MEEE 10,714,00024%4. 0% 429
0 =013 10,714,000 %4. 5% 483
0 LQIEDIQULER 326,0002*3.275% 11
201 Ler2 g 195,645 176,341 19,304
NICEEE 19,690 16,690 3,000
O LetgH| 12,620
0 HARIRE 7Y 75,00094%7 9 A*43| 2,100
0 MYDI0HH P 3,0002+707H* 122 2,520
0 AUHSZLl 5)HA ARZ 2ol
200,0002*7 4 1,400
0 ZIIBE(2Y, UES)?Y 1,500,000 1,500
0 &2 50,0002 %40 A% 122 2,400
0 HslZeIRt At DS 200,0002% 124 200
0 STHISAIE 22N 2
500,00024*57H A 2,500
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=il 2,870
H(H=LRFA) 7,000 *51x70 2,450
2| (HZEHIA2R) 7,000 22130 420

4,200
STEHOS 29 +g
70,0002 %42|%13g 3,640
0 Msd&)I==2g%2a 28 =&
70,0003 *22|+4H 560
02 S3=4H| 175,955 159,651
O 2323 & HA 168,255
0 &It BHE=+E 845,000&*12& 10,140
0 et RUdr+= 440,000 *12& 5,280
0 JolER=2 14,5202 128 175
0 MIIe= 146,640
o AUfM=s& &I 3,000,000&*12 36,000
o MEXNFSE HIR=
1,200,000&*12& 14,400
0 SEEsE Mks 1,500,000&*12& 18,000
MEASHH MR
1,800,000 12 21,600
gRYENSSE LS
1,500,000 12 18,000
ML HIIRS 100,000&x12& 1,200
BHUA, SEH HIIRS
1,100,000 12 13,200
HEEsHE HII8= 500,000&x128 6,000
THMEE JIR=s 350,000&*12& 4,200
SEHESANOIESZTIIRS
600,000&*12& 7,200
272 HSAEE &Ies
70,0003 123 840
o SHAEMSINOIEZE MRS
100,000 x4&* 152 6,000
0 &ol==R3 350,000&*12& 4,200
0 Hates & el 110,000+ 12& 1,320
0 =Z3M === Xz 500,000& *12] 500
ZHIs Xl 7,700
SHEAEF A2 2,200
ES 5,000 400 2,000
EIPIES 4,000 *50%E 200
ILHMS 2D I HAZH IR A2
500,000&*12] 500
0 =EEIIHEELHIRAES 500,000& *12] 500
0 EJIIAZ2e|RREx 500,000& *12] 500
0 M=AIE 22| 2,000,000 *20H 24 4,000
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M HEE M=E2sS X
=2l MSAE2E CERE)
= X XH ol(S = 1E ==} OH @L‘j—":— =2}
202 O4b| 9,000 9,000 0
01 =LHOHI 9,000 9,000 0
O Nsg2adot] 150,000 *501x 123 9,000
206 =4l 2,000 2,000 0
01 M=l 2,000 2,000 0
+S22E8HIE, €], DIANERY
500,000 *43] 2,000
307 SI2H01 A 168,000 168,000 0
05 BIZIRIES 168,000 168,000 0
O 2o HoI2 AR/
14,000,000 = 12& 168,000
278 MSAEES 394,319 471,585 NTT,266
401 AIEHIZL 20| 394,319 471,585 NTT,266
01 Al&HI 392,000 469,000 AT77,000
OHNEAIE-ER2X & 2ISAIEE4
20,000,000 20,000
OSHE XNSALEEAS
10,000,000&*11SH 110,000
O34 orR23J|17+ EXIAE
10,000, 000 & *5JH A 50,000
OCcHEEEZ AMd2 BE2AY 15,000,000& 15,000
OUESEHMSAIE(ERE) F=XUHE HUISA
50,000,000& 50,000
OMEEF2HIE A EXISA
50,000,000 50,000
OEESANOIESE AUXECIEXIAY
40,000, 0002 *2IH 2~ 80,000
OXSEATRE BAHY 7,000,000& 7,000
OtEA NI E L=TA 10,000,000& 10,000
03 AIE=S0HYI 2,319 2,585 A266
OAIE=20HY| 322,000,000 +0.72% 2,319
SSHSAlIE 2] 3,310,000 2,756,000 554,000
Xl 1,100,000
= 635,000
o 1,575,000
ANERFISH THA 1,850,000 1,450,000 400,000
Xl 600,000
& 335,000
= 915,000
401 AIEHIZ 20| 1,850,000 1,450,000 400,000
Xl 600,000
= 335,000
= 915,000
01 Al&HI 1,843,340 1,444,780 398,560
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OAIEME I THAI Al&H]
1,843,340,000& 1,843,340
Xl 600,000
& 335,000
= 908,340
03 AIE204YI 6,660 5,220 1,440
OAIE=20id| 1,850,000,000& *0.36% 6,660
AE OIS LT E AL (HAHISSAIY) 345,000 756,000 411,000
Xl 280,000
o 65,000
401 AlIEHILE0HY| 345,000 756,000 A411,000
Xl 280,000
o 65,000
01 Al&H]| 342,516 751,237 N408,721
OAMEM2tots2 LAY Al&d]
342,516,000& 342,516
Xl 280,000
iy 62,516
03 AIE20H| 2,484 4,763 2,279
OAIE20iH| 345,000,000 *0.72% 2,484
AESAX P MESHOIESEE XA 420,000 0 420,000
& 126,000
= 294,000
401 AIZHILE0HY| 420,000 0 420,000
= 126,000
iy 294,000
01 Al&b| 416,976 0 416,976
ONMESAXAEEZHOIESHEXIAY
416,976,000 416,976
< 126,000
iy 290,976
03 Al 20HYI 3,024 0 3,024
A& 0] 420,000,000&*0.72% 3,024
AFE Ao FEAARMT|ALS 145,000 0 145,000
Xl 100,000
== 45,000
401 Al&ZHIZL Y| 145,000 0 145,000
Xl 100,000
= 45,000
01 Al&HI 145,000 0 145,000
OLHEAOFFZ A A M T ALY 145,000,000& 145,000
Xl 100,000
= 45,000
AELCOIAUMEHEH HE A 250,000 0 250,000
< 75,000
= 175,000
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A - FH - GR(3H) - NRAY - BES Ofl &tk Ol] AkoH HwsZ
401 AlEHIZ 250,000 0 250,000
& 75,000
2 175,000
01 AI&H| 248,200 0 248,200
O&td OIAZHSHE AHEAI
248,200,0008 248,200
53 75,000
2 173,200
03 Al&=R0HH 1,800 0 1,800
OAlZ =0 250,000, 00084+0. 72% 1,800
A MERREDE FXETHIBAL 300,000 0 300,000
X 120,000
=3 54,000
2 126,000
401 AlEHIZ 0 300,000 0 300,000
X 120,000
-3 54,000
2 126,000
01 Al&2H 297,840 0 297,840
OttE dZM2=7E =X EUISA
297,840,0008 297,840
X 120,000
3 54,000
2 123,840
03 Al R0HH 2,160 0 2,160
OAI&S ] 300,000, 00084+0.72% 2,160
Megs (25220 100,000 500,758 £400,758
eV N 100,000 500,758 400,758
250SXE0I2 TS 100,000 50,000 50.000
702 JI2E2 100,000 50,000 50,000
01 JI2EE2 100,000 50,000 50,000
ORN&AEII2HE 100,000,0008! 100,000
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